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FINBAZHE :  4Ffn (EVIE) - HEVF 1 U E0IIE) Ell - 45 fn 34E10A 308 (4)
EYIE th [id] B | GROSS | HDCP | NET fifi% JNEfL SINE4 th g M | GROSS | HDCP | NET i %
F 17 [ 3% 43 43 8.4 34.6 51 i | R F1T 42 42 4.8] 31.2
L 41 41 6.0] 35.0 52 {r bk FEE 42 42 4.8] 31.2
AR 39 39 3.6] 35.4 53 fir 1Rkl B 42 42 4.8| 31.2
EH —WR 44 44 8.4| 35.6 54 {v |l f&E— 42 42 4.8{ 37.2
Al g 44 44 8.4i 35.6 55 (rd T v h 42 42 4.8] 37.2
A mE fiE 43 43 7.21 35.8 56 (i |Lis8 F%¥ 42 42 4.8 37.2
S| T 42 42 6.0 36.0 57 {v | ik oh 47 47 9.6! 37.4
WA BEHE 42 42 6.01 36.0 58 {V |8 HE 41 41 3.6 37.4
SRR 2 — 41 41 48] 36.2 59 fir |l _BE{Z 47 417 9.6 37.4
10 fr | ik fE+ 41 41 4.81 36.2 60 firy| Bt —ER 46 46 8.4| 37.6
S EIER 40 40 3.6 36.4 BT fir |BFE P 46 46 8.4 37.6
i 52 52 15.61  36.4 62 fif | XT AL 40 40 2.4| 37.6
13 fir |hE [EF 40 40 3.61 36.4 63 fir |i% R W+ 46 46 8.4| 37.6
14 fir | A o 46 46 9.6] 36.4 64 fir | HEAS el 40 40 2.4 37.86
15 fin | BB % 40 40 3.6] 36.4 65 0|5 £E 39 39 1.2] 37.8
16 fir | e #a] 52 52 15.61 36,4 TIHE = 45 45 7.21 37.8
17 47 (4l BE 40 40 3.6 36.4 67 fir |#iE = 45 45 7.2] 37.8
18 fir | /v fEHE 45 45 8.41 36.6 68 {ir | KME 45 45 7.21 37.8
19 {ir | JNRE NE— 45 45 8.4 36.6 69 fir | KT BEfE 39 39 1.2 37.8
20 _frl A KT 45 45 8.4{ 36.6 70 i | F9% 51 51| 13.21 37.8
21 {ir |dlA A& 45 45 8.4, 36.6 71 {7 | BJaL 39 39 1.21 37.8
i i 45 45 8.4 36,6 72 {if | ok iE 39 39 1.8 37.8
VoK R 45 45 8.4] 36.6 73 AL | ILTF (% 45 45 7.21 37.8
24 i [giiMA &R 45 45 8.41 36.6 74 i | B BE 39 39 1.2 37.8
25 finisnAk WE— 45 45 8.4] 36.6 75 %M AE 51 511 13.21 37.8
26 [ /N & B 45 45 8.4] 36.6 76 |HEA Kl 39 39 1.21 37.8
27 fr | AR N 39 39 2.4 36.6 . B3JI| H| T 45 45 7.9 37.8
28 fir 1it EF 45 45 8.41 36.6 %:!ﬂ: Y& ek 44 44 6.0/ 380
%9 A 38 38 1.21 36.8 79 47 | IR BB 38 38 0.0/ 38.0
30 iz iy fE 44 44 7.21 36.8 80 i |5 %k Bk 44 44 6.0/ 38.0
31T I BB A 50 501 13.2] 36.8 81 i | &Il {E4E 44 44 6.0/  38.0
32 fir ke = 44 44 7.21 . 36.8 82 i | HE{t SBH| 44 44 6.0 38.0
B wE 38 38 1.2] 36.8 83 {f | =i M 50 501 12.01 38.0
34 fir [REM 7% 38 38 1,21 36.8 84 {7 | AFF LAHT 44 44 6.0/ 380
235 fLiZEl AR Y 43 43 6.01 37.0 85 fr | HH TS 44 44 6.0/ 380
36 i | Lo EAE 55 551 18.01 37.0 86 iy | KWy = 44 44 6.0/ 38.0
37 fir |l EAE 43 43 6.0 37.0 87 e A H— 44 44 6.0} 380
38 i |7t FEH 43 43 6.0 37.0 (88 {i] o 49 49| 10.8! 38.2
39 fir (@O FE 43 43 6.01 37.0 B0+ |\ Ak 43 43 4.8/ 38.2
(40 {ir | HjHh £ T 43 43 6.01 37.0 90 (7| @M %Ik 43 43 4.8 38.2
41 fir [JA AT 49 491 12.01 37.0 91 | =F 'E— 43 43 4.8! 38.2
42 {r i@l 7% 43 43 6.0 37.0 92 {ir | Ly i 49 49 10.8 38.2
43 i |#F EH 43 43 6.01 37.0 93 i |KEM T8 49 491 10.8! 38.2
RE3oam 1 49 491 12,01 37.0 94 {ir | EFBFE L7 49 49] 10.8: 38.2
45 ;1[ HE I 37 317 0.0 37.0{BG S 1 S = o 42 42 3.6/ 38.4
o Len 43 43 6,01 37.0 A7 | AH FE 48 48 9.6 38.4
mf;%{ﬁixﬁ B 37 371 00| 37.0 EM FEaE o 42 42| 3.6 38.4
48 {7 ¥ MA_EHE 43 43 6.0] 37,0 98 {ir | @ith ¥ HE 48 48 9.6| 38.4
49 fir | E/hBE ARl 42 42 4.8| 37.2 X v 48 48 9.6/ .38.4
B0 (0| K= W 42 42 480379 HE #ES 41 41 2.4| 38,6
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Mz SINEA th i) B | GROSS | HDCP | NET e JEAL BINEA th [id] B | GROSS | HDCP | NET e
101 { (3 Brid a1 47 8.4] 38.6 151 {if [ &% M 52 521 12.0} 40.0
102 {i | HiFPN B 41 41 2.41 38.6 152 {if [{ERE B 46 16 6.0/ 40.0
103 {if |iEA B 41 41 2.41 38.6 153 fif | KiR L& 44 44 3.6 40.4
104 fif (& H T 47 47 8.4 38.6 154 7 |{[4F T 44 44 3.6 40, 4
@05 (DI FIE R 41 4] 244 286 155 {if | HF {EiE 56 561 15.6] 40,4
106 {7 | HEP % 46 46 7.21 38.8 156 fir | &)1l BEFE 50 50 9.6| 40.4
107 {ir (4&JI 2 46 46 7.2 38.8 157 fir | By BB 56 56 15.6 40. 4
108 i |tHi® SF 40 40 1.27 38 8 158 {if | ik H# 56 561 15.6] 40.4
109 i |/NBF [z 52 521 13.2] 38.8 159 i | A & 50 50 9.6 40.4
410 in [ 58 @k 46 46 7.21 38.8 160 fir | A(R1R {0 49 49 8.41 40.8
:@ My R 45 45| 6.0] 39.0 161 [z | e BT 49 49| 84| 406
112 7 | THE SCHE 45 45 6.01 39.0 162 {if | JNiE 1= 48 48 7.2] 40.8
113 {7 | {45 A& 51 51 12.01  39.0 163 iz |MF HE— 42 42 1.2 40.8
114 {if |t #FE 45 45 6.01 39.0 164 i |BFM #HE 54 54| 13.2] 40.8
#15 1y ||t 2= 51 511 12.01 39.0 rig’g s 54 54} 13.21 40.8
116 fir | # M %% 51 51 12.01  39.0 66 {r | $k Fopk 48 48 7.2] 40.8
117 {7 | KR B — 51 51 12.01 39.0 167 fir iR F HlEA 53 53 12.01 41.0
118 fif |k fEm 51 51 12.01 39,0 168 {ir {3 B Ik 47 47 6.0/ 41.0
119 {7 |k L& 51 51 12:0:¢..139..0 169 {7 1Kl K 47 47 6.0/ 41.0
120 i |4 —BL 45 45 6.0 39,0 1076 AL B IR AL{E 41 41 0.0! 41.0
121 v (41 Fo @ 44 44 4,8] 39,2 171 o | fEtd f— 53 531 12.0] 41.0
HiE HE 56 56 16. 8 39.2 172 {ir {AR#F 15 53 53 12.0/  41.0
123 {7 | W e 50 50| 10.8] 39.2 173 {7 | W 3HE 46 46 4.8] 41.2
124 {ir | % Fn3h 50 50| 10.8] 39.2 174 {7 {$¥ABH a3l 46 46 4.8| 41.2
425 Pl Kik BB 43 43 3.8 39,4 aA75 _{if | F ik {EIR 46 46 4.8| 41.2
126 fir |Ead % 43 43 3.6 39.4 176 {7 | A# #FA 45 45 3.6] 41.4
127 {ir [ SRR MiT 49 49 9.6! 139.4 7 {7 | Hich B 45 45 3.6 41.4
128 {7 1] Fo/A 55 55 15.61 39.4 178 {7 | A 45— 45 45 3.6 41.4
129 7 | FE e 49 49 9.6] 39.4 179 7 i & 56 56 14.4 41. 6
430 {7 ISP M ik 43 43 3.6] 39.4 180 {i7 |/ bk HE 55 551 13.21 41.8
131 {if | AJT 3% 43 43 3.6 39.4 181 fir {/hdk 1% 48 48 6.0/ 42.0
132 {7 dbhf Bi% 43 43 3.6 39.4 182 {ir | Bkl 3% 60 60, 18.0: 42.0
=M 55 55! 15.6] 39.4 183 {7 | M HF 47 47 4,8] 42.2
134 {ir (iR o 49 49 9.61 139.4 184 { | T 3% — 53 53 10.8} 42.2
135 fiz | A I HEE 48 48 8.4 39.6 185 {ir |y FHHE 59 59| 16.8 42,2
136 (i A% BR 42 42 2.41 39,6 186 (i | F % 7 52 52 9.6f 42.4
137 {7 |V9%E FAE 48 48 8.4| 39.6 187 {ir | Mk {7 46 46 3.6] 424
138_fir [/hbk #p 48 48 8.4] 139.6 (88 (| ik 44 44 1.2] 42.8
139 fir [Tk 08I AR 47 47 7.2] 39.8 189 fir | fifl fit (F5 6R) 53 53 9.6! 43.4
SEURA DNV NI 53 531 13.27 39.8 Bl —% 57 57 10.8] 46,2
141 fir | jk e 47 47 7.2} 39.8 %i A TER 55 55 8.4| 46.6
142 {ir |ME5F R 47 47 7-2F 39§ )
143 { | ZcikE B 53 53 13,2 39.8
) —{F 47 47 7.21 39.8
JASTHr BB B 53 530 1321 39.8
146 fir | dEf fit 46 46 6.0] 40.0
147 47 | S )IE % 46 46 6.0] 40.0
148 {f |fERA =8 52 521 12.0{ 40.0
149 fr {/hE —R 52 52 12.0§ 40.0
150 fir| Mt fii Al 46 46 6.01 40.0



